3-Hila HmAsEE (GPP) SEMMEIRFIEIRAE
C ik 24 )

—. PR

- H M EERE (GPP, EC3.1.3.21) f4L 3-BEle H il FEERRAR &= P2, &8
WA BOEFE e — PR SO, B 1 I S B e H I AR RO

AR GCR A 3-BE IR H i AR, AR R S B0 7)) s A7 B ) PN AR A 7 A ) B R
WETrE, FmaeH 3-SR H i BsE 1S e RN
R B B
R 44 FR TS {RATFEER HE
FEHUH WAk 35mLx1 4°CIRAT

BRI TS B LM ITE N R,
i — 77 mgx1 20°CIRA7 | ISAET 3.6mL FIEAGERE A
FRSEHOIRA-20°C 5 81875 «

WA | MR 3mLx i | 4°ClRAE

eAATERT A B0 2.7mL B9 B

— A:&WZIS mgx1 ;ﬂi JoCli ;Tii, B 34.82L aﬁi»%k E’Jf
B: & 3mLx1 )il R&R. BATMRA 4CiRE, &
HATENER.
Bt il IR mgx1 37 4°CIRAT AEFERE, ARNZRF
(3] . SRRHRERREIAEE: BRI B B R A SR s i e 5%, vy DU — ikt 28R} 25 m,
TG B o

= PR AR
SEREETE. ImL BEES LA OB lem) o AJ RS GRE O, KIBH.
R, UKo
9. o~ HllERE (GPP) V& TEDE .
PRSI BTG A 2 MFEARMTRIN G, T REAHRE IO, ARSI, B i
FEAFAAFANIR 9% !
1. FEAH] 25 -
© HLFEA:
HLZ10.1g HR OKSr 78 R HIREARTTE 0.5g) BIWFAN, I ImL $2HUK, fEuK bt
TV S R B TR . 12000rpm, 4°CES.C» 10min, HX E3E, Bk BRI,
GE]: AT URRBARARE (2) : BEVRIEFAmML)A 1: 5~10 BIELHIZEL.
@ /A
SR /B B O, B0 a3 B B 500 JT4HTE/E E N ImL B
VKGR 7 AN /B (UK, ThEE 20% 8 200W, #E7E 3s, [A]FE 10s, EE 30
%) 5 12000rpm,  4°CES.Cr 10min, BB, Bk AR,
[F]: wAHzBAEAmEE (1001 « EEGRETR (mL) J3500~1000: 1 BIELBIHITRRED
@ WARFEA: FTE PIBRFE A BRI, VAo ) 50 J5 B 38 A U
2. ARSI
@© A AT 30min BAE, WEFTHKE 700nm, FEIEKREE.
@ TE EP B H RN T FR ) -

3

| AR D | iR | e




FEA 60
PR 60 60
A — 60 60
%), 37°CHEE 30min,
= 60 60
FEA 60
%5, 12000rpm, 4°CE.Cr Smin, U EIERFN .

® BN, 7EEP EHIA:
FER 150 150
= 600 600
RE), HEEFHE 3min, SRS ImL BEESH A I
(4% 1em) , 700nm FEEHUAEWOGE A,
AA=A TIE-A XTI CRANFEARM—A B XD .

ﬂ\ élﬂil:%_\[/‘l_‘ﬁ:
1. bRAEMIZE T FE: y=0.6624x - 0.003, x sEbnifEf BRI R (umol/mL) |y £AA.
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2. HEAHKRETHE:

TE s BN ST A 2 A R IR AR L umol JE ML ) & — N BEE T HRA .
GPP(umol/h/mg prot)= [(AA+0.003)0.6624xV2] + (V1xCpr) ~T=12.08x(AA+0.003)+Cpr
3. FEFEAREEE T

SE S BN T RIS A 1 umol TEATLIE A & o — ANBES 77 AL
GPP(umol/h/g 1 )= [(AA+0.003)+0.6624xV2]+(Wx V1+V)+T=12.08x(AA+0.003)=W
A FEON o BN B T

€S s BN 1 AN B B 2 R A R A 1 mol Je AL R B — AN AT
GPP(umol/h /10* cell)= [(AA+0.003)=0.6624xV2]+(500xV 1+V)=T=0.024x(AA+0.003)

5. TRRARAERIHE

5B S BN R TR ARSI A Tumol JCATLEE (1) &8 — AN 71 FAL
GPP(umol/h/mL)=[(AA+0.003)=0.6624xV2]+V1+-T=12.08x(AA+0.003)

V- MMASREGR AR, 1mL; V1---IIAFEARAEIT, 0.06mL ;

V2--- [ ] R AR, 0.24mLs T--- [ SIS A], 172 /N

W---FEARBEHE, g 500---4H T BRAH AL 4, 500 T5.
Cpr---FEARE H R, mg/mL; BBUEHARA R BCA & H & ERNNEH & .

Bt Aot il 2R ) 1 AR

1. HIEbRuE B (Sumol/mL) : ArvEEf A 10mL R — %M. (BRRFEAEMREANTD .

2. BB MRE: 0,02, 0.4, 0.6,0.8, 1. pmol/mL. 3 7 ARHE SZBRAEAS SR B bRl T I o

3. AR T S NI B R T IR AR B A AR 45 SR BRI o) b o I £




